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(1×40= 40 Gs;spfs;)  

                           gFjp 11 

tpdh ,y01 

1. 1) ntw;wpahdJ Rakhd jpwdpy; jq;fpAs;sJ vd;w ek;gpf;if 

2) Rje;jpukhf nraw;gLtjw;Fupa Mu;tk;     (2×1=2 Gs;spfs;) 
2. 1) re;ijapy; fhzg;gLk; Nfs;tp 

2) ,yf;F thbf;ifahsu; 

3) Nghl;bahsu;    (%d;W Fwpg;gpl 2 Gs;spfs;> ,uz;L Fwpg;gpl 1 Gs;sp> xd;W Fwpg;gpl ½ 
Gs;sp) 

3. 1) tzpff;fUj;Jf;fis tpsf;Ftjw;F 
2) tzpfj;jpw;F topfhl;Ltjw;F 
3) tzpfr; #oy; gw;wpa mwptpidg; ngw;Wf;nfhs;tjw;F 
4) tzpfj;jpd; vjpu;fhy epiyikiaf; fhl;Ltjw;F 
5) Njitahd epjpapidg; ngw;Wf;nfhs;tjw;F 
6) re;ij gw;wpa rpwe;j kjpg;gPL xd;wpidg; ngw;Wf;nfhs;s 
7) tzpfj;jpw;Fj; Njitahd tsq;fis ,dq;fz;L nfhs;s 
8) tzpfj;jpd; ntw;wpia mwpe;J nfhs;s 

9) tzpfk; gw;wpa nghJthd tpsf;fnkhd;iw ngw;Wf;nfhs;s  (4×½= 2 Gs;spfs;) 
4. 1) cw;gj;jpr; nray;Kiw 

2) epiyahd cw;gj;jpr; nrhj;J 
3) cw;gj;jpf;fpuak; 

4) myFf;fhd fpuak;       (4×½= 2 Gs;spfs;) 
5. (m) cw;gj;jpg;nghUs;:- Nahf;fl; tiffs; 

(M) ,lk;:- rpy;yiw tpahghu epiyaq;fspD}lhf tpepNahfpj;jy; 
(,) tpiy:- re;ijia mbg;gilahff; nfhz;l tpiyaply; 
(<) Nkk;gLj;jy;:- gjhiffs; fhl;rpg;gLj;jy;> rpWtu;fSf;F ];bf;fu;fs; toq;Fjy; 

(4×½= 2 Gs;spfs;) 
6. nkhj;j cw;gj;jpf; fpuak;  

   %yg;nghUl;fpuak;  & 750000 
 $ypf;fpuak;   & 250000   01 Gs;sp 
 Vida cw;gj;jpf;fpuak; & 200000 
     &1200000   01 Gs;sp 
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1. 3 11. 3 21. 3 31. 3 
2. 3 12. 4 22. 2 32. 1 
3. 1 13. 2 23. 4 33. 3 
4. 2 14. 4 24. 2 34. 1 
5. 3 15. 2 25. 1 35. 2 
6. 4 16. 2 26. 4 36. 4 
7. 2 17. 4 27. 3 37. 1 
8. 1 18. 1 28. 2 38. 3 
9. 4 19. 1 29. 3 39. 1 
10 1 20. 1 30. 4 40. 2 



 
7. nkhj;j cw;gj;jpay;yhf; fpuak; 

gjhif mr;rply; nryT  &   20000 
];bf;fu; nryT   &   10000 
tpepNahf Copau; rk;gsk; &   50000    01 Gs;sp 
epu;thfr;nryT   &   72000 
epjpr;nryTfs;   &   24000 
    &  176000    01 Gs;sp 

8. tpw;gid tUkhdk;      &  2000000     ½ Gs;sp 
- nkhj;j cw;gj;jpf; fpuak;  & 1200000 

nkhj;j cw;gj;jpay;yhf; fpuak; &  176000 &  (1376000)      ½ Gs;sp 
Njwpa ,yhgk;      &   624000       01 Gs;sp 
 

9. 1200000   =  &  24  ( 01 Gs;sp) 
50000     01 Gs;sp 

10. re;ijg;gLj;jy; nryTfs; 
gjhif mr;rply; nryT  &   20000 
];bf;fu; nryT   &   10000  01 Gs;sp 
tpepNahf Copau; rk;gsk; &   50000 
     &   80000  01 Gs;sp 

tpdh ,y 02  

1. 1) gy;ypdj;jd;ikfis cUthf;fpf; nfhs;sy; 2) Njhy;tpfis rfpj;Jf;nfhs;sy; 
3) Mu;tj;ij Cf;Ftpj;jy;   4) gpur;rpidfis rthyhff; fhZjy;  
5) Mf;fj;jpwd; gapw;rpf;fhd re;ju;g;gk;  6) Mf;fj;jpwid kjpj;jy; 

7) Mf;fj;jpwd; elj;ijfisg; gpd;gw;Wjy;         (4×1/2 = 2 Gs;spfs;) 
2. 1) njhopy;El;gj;jpwd;  2) khdplj;jpwd;  

3) vz;zf;fU uPjpahd jpwd;fs; 4) FOf;fSld; nraw;gLk; jpwd;fs; 
5) njhlu;ghly; jpwd;fs;  6) MNyhridj;jpwd;fs; 

7) Kd;khjpupahf nray;gLk; jpwd;fs;          (4×1/2 = 2 Gs;spfs;) 
3. 1) nrhe;jr; Nrkpg;G  

2) jdf;Fupa nrhj;Jf;fis <LgLj;jy; my;yJ tpw;wy; 
   3) ez;gu;fs;> cwtpdu;fsplk; fld;ngwy; 

   4) tq;fpf;fld; 5) thbf;ifahsuplk; Kw;gzk; ngwy;   (4×1/2 = 2 Gs;spfs;) 
4. 1) Njitahd tsq;fisg; ngwf; $bajhf ,Uj;jy; 

2) Nfs;tp fhzg;gly; 
3) ftu;r;rpfukhd tUkhdk; fpilj;jy; 
4) Nghl;bj;jd;ik  

5) rl;ljpl;lq;fSf;F cl;gLjy;      (2×1 = 2 Gs;spfs;) 
5. 1) nghOJNghf;F 

  2) Mf;fG+u;tkhd rpe;jpf;Fk; Mw;wy;     (2×1 = 2 Gs;spfs;) 
 
tpdh ,y 03 
1. (m) 1) tzpfj;jpw;Fj; Njitahd KjyPl;bid ngw;Wf;nfhs;tjw;fhd topKiwfs;  

     kl;Lg;gLj;jg;gl;bUj;jy; 
2) Gjpa njhopy;El;gq;fs; gad;gLj;jg;glhik 
3) re;ij tiuaWf;fg;gl;bUj;jy; 
4) tzpfr; nraw;ghLfspy; FLk;gj;jhupd; jiyaPLfs; mjpfkhjy; 
5) tzpf cupikahsupd; tzpf mDgtKk;> mwpTk; kl;Lg;gLj;jg;gl;bUj;jy;  

                                                          (2×1 = 2 Gs;spfs;) 
(M) 1) tzpfr; nraw;ghLfis jpl;lkpl;Lr; nraw;gLj;jy; 

2) nfhLf;fy; thq;fy;fis rupahf mwpf;ifg;gLj;jy; 
3) ntspr;#oy; khw;wq;fis ,dq;fz;L nfhs;sYk;> Njitahd KbntLj;jYk; 
4) tzpfupd; jdpg;gl;l tho;tpid tzpfr;nraw;ghLfspypUe;J NtWgLj;jp itj;jpUj;jy;  
5) mur epWtdq;fspd; cjtpfisg; ngwy; 



6) rpwe;j khdplj;njhlu;Gfis Vw;gLj;jy;           (2×1 = 2 Gs;spfs;) 
2. 1) thbf;ifahsu;   3) Nghl;bahsu;fs; 

2) toq;Feu;fs;;   4) gjpyPl;L nghUl;fis cw;gj;jp nra;J tpepNahfpg;Nghu; 

5) vjpu; fhyj;jpy; tzpfj;Jiwapy; gpuNtrpf;f vjpu;ghu;j;Js;Nshu; (4×1/2 = 2 Gs;spfs;) 
 

3. khztu;fspd; nghUj;jkhd ,uz;L cjhuzj;jpw;F (2×1 = 2 Gs;spfs;)   
4. 1) Efu;Nthu; vz;zpf;ifAk; mtu;fsJ gutYk; 

2) %yg;nghUl;fis ngWtjw;fhd trjp 
3) Copau;fis ngWtjw;fhd trjp 
4) cl;fl;likg;G trjpfis ngWtjw;fhd trjp 
5) nghJey trjpfs; 

6) ,lj;jpw;fhd nryT     (4×1/2 = 2 Gs;spfs;) 
 

tpdh ,y 04 
1. 1) re;ij Ma;tpw;fhd nryT 

2) ,lj;ij mgptpUj;jp nra;tjw;fhd nryT 
3) %yg;nghUl;fisAk;> cgfuzq;fisAk; Njbg;ghu;g;gjw;fhd nryT 
4) gjpT nra;tjw;fhd nryT 

2. 1) tzpfnkhd;iw Muk;gpf;f Kd;dUs;s fUkq;fSk;> nryTfSk; 
2) nkhj;j KjyPl;L kjpg;gPL 
3) cj;Njr fhR cl;gha;r;ry;> ntspg;gha;r;ry; $w;W 

4) tzpfg;ngWNgWfspd; kjpg;gPL     (4×1/2 = 2 Gs;spfs;) 
3. 1) 1918 Mk; Mz;L 6 Mk; ,yf;f tpahghu ngau;gjpTf; fl;lisr; rl;lk; 

2) 1890 Mk; Mz;L gq;Filik fl;lisr;rl;lk; 
3) 2007 Mk; Mz;L 7 Mk; ,yf;f fk;gdpr; rl;lk; 

4) 1840 Mk; Mz;L Nkhrb jtpu;g;G fl;lisr;rl;lk;  (2×1 = 2 Gs;spfs;)   
4. 1) fk;gdpapd; Fwpf;Nfhs; 

2) fk;gdpg;gq;Fjhuu;fsJ cupikfSk;> nghWg;Gf;fSk; 

3) fk;gdpapd; Kfhik> epu;thfk; njhlu;ghd tpguq;fs;  (2×1 = 2 Gs;spfs;)   
5. 1) mq;fPfhuk; toq;Fgtu;fSf;F mtuJ KjyPbd;wp NtW re;ijfspy; tzpf eltbf;iffis  

   tpupTgLj;Jtjw;F re;ju;g;gk; fpilj;jy; 
2) ,yhgk; fpilf;fpd;wik 
3) mjpfsthd Copau;fis itj;J elj;JtjpYs;s mOj;jj;ijf; Fiwj;J ghupastpyhd 

  ed;ikfis mile;J nfhs;sf; $bajhftpUj;jy;   (2×1 = 2 Gs;spfs;)  
 
tpdh ,y 05  
 
1. 1) nghJ Nehf;fnkhd;W ,Uj;jy; 
  2) tiuaWf;fg;gl;l tsg;ghtid 
  3) nghUshjhu eltbf;iffspy; <LgLjy; 
  4) egu;fs; FOthf xd;wpize;J ,Uj;jy; 

  5) $l;Lj;njhlu;G fhzg;gLjy;     (4×1/2 = 2 Gs;spfs;) 
2. ,yhgk; ciof;Fk; Nehf;fj;Jld; ,Utu; my;yJ mjw;F Nkw;gl;ltu;fSf;fpilapyhd njhlu;G 

  (02 Gs;spfs;) 
3. 1) xg;ge;jq;fis Nkw;nfhs;sy; 

2) nrhj;Jf;fis nfhs;tdT nra;jy; 

3) epjp epWtdq;fsplkpUe;J fld;fis ngw;Wf;nfhs;sy;  (2×1 = 2 Gs;spfs;)  
4. 1) ngz;fSf;Nf cupj;jhd jpwikfis gad;gLj;j Kbjy; 

2) RaxOf;fk; fhzg;gly; 
3) jdpg;gl;l tho;f;ifiaAk; tzpff; fUkq;fisAk; ruprkkhf Kfhikj;Jtk; nra;af;$ba  
  Mw;wy;  
4) fhyj;ij jFe;j Kiwapy; gad;gLj;jpf; nfhs;sy; 
5) Mf;fj;jpwd; cau;thf ,Uj;jy; 
6) gy;NtW jug;gpdUlDk; rpNefG+u;tkhd njhlu;Gfis fl;bnaOg;Gtjw;Fk; mjD}lhf  
  ek;gpf;ifia tsu;j;njLg;gjw;fhd Mw;wy; 



7) ngz;fs; epahakhdtu;fSk; ek;gpf;if nfhs;sf; $batu;fSk; vd;w kdg;ghq;F r%fj;jpy;  

     fhzg;gLfpd;wik          (4×1/2 = 2 Gs;spfs;) 
5. 1) Njrpa juf;nfhs;iffis jahupj;jy; 

2) nghUl; jur;rhd;wpjio tpepNahfpj;jy; 
3) juf;fl;likg;ig cWjpg;gLj;jy; 
4) Vw;Wkjpg; nghUl;fspd; juj;ij gupNrhjid nra;jy; 
5) ,wf;Fkjp gupNrhjid 

6) juj;jpd; Nkyjpf mgptpUj;jpf;fhd MNyhridfs;     (2×1 = 2 Gs;spfs;)  
 
tpdh ,y 06  
1. 1) rhjfkhd nghUshjhur; #oy; fhzg;gly; 

2) cWjpahd murpay; epiyik 
3) mur kw;Wk; NtW epWtdq;fspd; Cf;Ftpg;Gf;fs; 
4) Kaw;rpahz;ikia Cf;Ftpf;Fk; FLk;g gpd;dzp fhzg;gly; 
5) ghupasT tzpfq;fspd; %yk; fpilf;Fk; Cf;Ftpg;Gf;fs; 
6) tsq;fis ngw;Wf; nfhs;sf; $ba Mw;wy; 

7) Kd;khjpupahd elj;ijfs;/ egu;fs;    (4×1/2 = 2 Gs;spfs;) 
 

2. 1) rpwe;j nghUshjhu epiynahd;iw Vw;gLj;jpf; nfhs;sy; 
2) rdj;njhifapy; mjpfkhdtu;fs; ngz;fshftpUj;jy; 
3) ngz;fs; kj;jpapy; njhopypd;ik mjpfkhff; fhzg;gly; 
4) ngz;fspd; gq;fspg;G tzpfj;jpw;F mtrpakhff; fhzg;gly; 

5) ngz;fs; cau;fy;tpia ngw;Wf;nfhs;tjpYs;s Mu;tk;   (2×1 = 2 Gs;spfs;)  
  

3. 1) tzpfj;jpd; ed;kjpg;G mjpfupj;jy; 
2) tzpfj;jpd; ePz;lfhy tho;T cWjpg;gLj;jg;gly; 
3) cau;thd ,yhgk; fpilj;jy; 
4) Copau;fspd; kdcWjp mjpfupg;gNjhL tzpfj;jpd; kPjhd tpUg;gk; mjpfjpj;jy; 
5) rl;lg;gpur;rpidfs; Fiwtiljy; 
 

4. 1) tzpfj;ij Muk;gpg;gtu;> KjyPl;lhsu; 
2) epWtd cWg;gpdu;fs; 
3) ntspr;r%fk; 

 (%d;W Fwpg;gpl 2 Gs;spfs;> ,uz;L Fwpg;gpl 1 Gs;sp> xd;W Fwpg;gpl ½ Gs;sp) 
 

5. 1) Kaw;rpahsu; Gjpa tzpfq;fis Muk;gpg;gjw;F Mu;tj;ij Vw;gLj;Jtjw;F 
2) Kaw;rpahsu;fspd; tzpf vz;zq;fis tzpfq;fshf khw;Wtjw;fhd re;ju;g;gj;ij toq;f  
3) tzpfq;fis Muk;gpg;gtu;fsplk; jpl ek;gpf;ifiaAk; Neupil kdg;ghq;ifAk; tsu;g;gjw;F 
4) Kaw;rpahsUf;F rpwg;ghd gpuNtrk; xd;wpid toq;Ftjw;F 

5) muR vjpu;ghu;f;fpd;w r%f eyd;Gupj;jpl;lq;fis elj;jpr; nry;tjw;F (2×1 = 2 Gs;spfs;)   
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



tpdh ,y 07 
mkyd; tzpfk; (1/2 Gs;sp) 

1.                 2019 [dtup khjj;jpw;fhd cj;Njr fhRg; gha;r;ry; $w;W 
tpguk; &gh &gh 

fhR cl;gha;r;ry; 
mkyd; ,l;l fhR 
ez;gdplk;; flDf;F ngw;w gzk;  
nghUs; cw;gj;jp tUkhdk; 
fld;gl;NlhuplkpUe;E fpilj;j fhR 
fhR ntspg;gha;r;ry; 
nghUs; nfhs;tdT 
cgfuzf; nfhs;tdT  
kpd;fl;lzj;jpw;fhd nryT 
Copau; rk;gsf; nfhLg;gdT 
fld; jtiz kPs toq;fy; 
Vida nryTfSf;fhd nfhLg;gdT 
nkhj;j fhR ntspg;gha;r;ry; 
Njwpa fhR kPjp 

 
250000 
150000 
240000 
100000 

 
200000 
150000 

3 Gs;sp  10000 
45000 
50000 
20000 

 

 
 
      2 Gs;sp 
 
740000 
  
 
 
 
 
 
 
(475000) 1/2 Gs;sp 
265000  01 Gs;sp 

 
 

 
2. fhR kPjp & 265000 (1 Gs;sp) 
3. mkyd; ,l;l gzk; & 250000 

ez;gdplk; ngw;w gzk; & 150000 
    & 400000 (2 Gs;sp) 
 
 

 

    
 

 
 
 
 

 


